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QUESTION 1

What is the most problematic issue about the workflow shown below?

been sent Emad #1

A. The end activity will cause all records in the context to be removed from memory.
B. The split might fail causing no deliveries to be sent.

C. The two deliveries will be sent concurrently causing issues with the MTA.

D. The query may not have been completed before the scheduler runs again.

Correct Answer: D

QUESTION 2

Regarding the schema below, why is the link NOT optimized?

<srcSchema name="purchase” namespace="neo">
<element autopk="true” label="Purchases” name="purchase”>
<attribute label="purchase identifier” name="idPurchase” type="long">
<attribute label="Product” name="product” type="string" />
<attribute label="Date"” name="date" type="date"/>
<attribute label="Price” name="price” type="double” />
<element label="Recipient” name="recipient” target="nms:recipient” type="link">
<join xpath-dest="@id" xpath-src="@idPurchase” />
< felement=
<felement>
<fsrcichema>
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A. Integrity rules are not defined

B. The sequence for filling primary key values is not defined
C. The automatic primary key is not used

D. There is no unique index on the idPurchase attribute

Correct Answer: D

QUESTION 3

The following data model was automatically created by Adobe Campaign. How would you implement the corresponding
schema?

9A0-389 VCE Dumps | 9A0-389 Practice Test | 9A0-389 Exam Questions 3/5


https://www.geekcert.com/9a0-389.html
https://www.geekcert.com/9a0-389.html
https://www.geekcert.com/9a0-389.html

VCE & PDF

GeekCert.com

https://lwww.geekcert.com/9a0-389.html
2024 Latest geekcert 9A0-389 PDF and VCE dumps Download

cdArchive
SQL field Type Label Description
iCdArchiveld long Primary key Internal primary key
sArtist string 100 | Artist Artist
sRecordCompany | string 50 Record Company | Record Company
sTitle string 100 | Title Title
tsReleaseDate date Release Date Release Date

A,
<grcSchema>
<glement autopk="true" label="cdArchive” name="cdhArchive”>
<attribute label="Primary key"” name="cdArchivelId"” type="long”/>
<attribute label="Artist” length="1[0" name="artist"” type="string”/>
<atctribute label="Title"” length="10[" name="title" type="string"”/>
<attribute label="Release Date” name="releaseDate” type="date”/>
<attribute label="Record Company" length="50" name="recordCompany” type="string”/>
</element>
</srcSchema
B.
<srcSchema’>
<element label="cdArchive” name="cdArchive">
<attribute label="sArtist” length="100" name="artist”™ type="string”/>
<artrribone lahel="sTitle” lTength="100" name="title" cype="atring”/>
<attribute label="tsRelease Date"” neme="releaselate” type="date"/>
<attribute label="sRecord Company” length="50" name="recordCompany"” tLype="atring”/>
</element>
</8rcichema>
E:
<grcSchema>
<element label="cdArckive” name="iCdArchive”>
<attribute label="Artist"” length="1C[0" name="sArtist"™ type="string"/>
cantrihune Tahe1="Tit1e” Tengrnh="101" name="aTinls" nype="acring” />
<attribute label="Release Date” name="tsReleaseDate” type="date"/>
<attribute label="Hecord Company” length="50" name="sRecordCompany” type="string”/:>
</elementc>
</srcSchema>
0.
<grcSchema
<glement autopk="true" label="cdArchive” name="cdArchive">
<attribute label="Artist” length="1C0" name="artist” type="string”/>
cAantrihune Tahe1="TitT1e"” lTengrth="10"" name="title" type="arring” />
<attribute label="Release Date” name="releaseDate"” type="date”/>
<attribute label="Record Company"” length="S50" name="recordCompany” type="string”/>
</element>
</srcSchema
A.B.C.D.

Correct Answer: C
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QUESTION 4
How can you prevent a user from inputting a recipient without an email address?
A. By adding a element in the form.

B. By adding a "dataPolicy=\\'mandatory\\"" attribute to the schema.

C. By adding a "mandatory=\\'true\\"" attribute to the form.
D. By adding a trigger in the database.

Correct Answer: C

QUESTION 5

You want to see the email column in the list of the field recipient records. What should you do?
A. Add the email to the navtree definition.

B. Add the email to the form definition.

C. Add the email to the "configure list" menu.

D. Add the email to the schema definition.

Correct Answer: C
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